PRT [With Physical Education]

Q 1). Give name of the operation launched by Indian Army recently to ensure smooth and
hassle-free Amarnath Pilgrimage.

(A) Operation Kedar

(B) Operation Shiva

(C) Operation Nath

(D) Operation Amar

Correct Answer: (B)

Q 2). Whom did Brazil honour with its highest civilian award, the Grand Collar of the
National Order of the Southern Cross recently?

(A) Shri Amit Shah

(B) Shri Raj Nath Singh

(C) Dr. S. Jaishankar

(D) Shri Narendra Modi

Correct Answer: (D)

Q 3). Which country hosted the International Conference on Glaciers’ Preservation in 20257

(A) India

(B) Canada

(C) Tajikistan

(D) Uzbekistan

Correct Answer: (C)

Q 4). Closing Statement and Introductory Statement are the components of which of the
following?

(A) Explanation Skill

(B) Questioning Skill

(C) Reinforcement Skill

(D) Stimulus Variation Skill

Correct Answer: (A)

Q 5). Which of the following is an example of positive reinforcement as per child
psychology?

(A) Giving a child a time-out for misbehavior

(B) Praising a child for completing homework

(C) Removing TV privileges for poor grades

(D) Ignoring a child's tantrum

Correct Answer: (B)

Q 6). As per NEP 2020, what is the proposed bagless period for students in Grades 6-8 in a
year?

(A) 5 days

(B) 10 days

(C) 15 days

(D) 20 days

Correct Answer: (B)
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Q 7). In which of the following situations does your heartbeat increase the most?

(A) During Sleeping

(B) Running

(C) Sitting

(D) Eating

Correct Answer: (B)

Q 8). Drainage water is also used for irrigation. It is a

(A) Groundwater source

(B) Surface water source

(C) Non-conventional source

(D) Conventional source

Correct Answer: (C)

Q 9). Shrillness of sound is measured in

(A) Decibel

(B) Meter/Second

(C) Hertz

(D) Unitless

Correct Answer: (C)

Q 10). A Balanced diet consists of which of the following?

(A) All essential nutrients except vitamins.

(B) Only Carbohydrate and Fats.

(C) All essential nutrients in sufficient quantity.

(D) Only Protein and Fats.

Correct Answer: (C)

Q 11). Which among them following are fiber crops?

(A) Millets and Maize

(B) Jute and cotton

(C) Tea and Coffee

(D) Rice and Wheat

Correct Answer: (B)

Q 12). The domain of water is referred to which of the following?

(A) Hydrosphere

(B) Lithosphere

(C) Atmosphere

(D) Biosphere

Correct Answer: (A)

Q 13). There is enough for everybody’s need and not for any body’s greed,” who among the
following has given the above statement?

(A) Vinoba Bhave

(B) Mahatma Gandhi

(C) Jawaharlal Nehru

(D) Atal Behari Vajpayee

Correct Answer: (B)

Page 2 of 4



Q 14). Which is a 5-sided closed figure?
(A) Hexagon
(B) Pentagon
(C) Octagon
(D) Rhombus
Correct Answer: (B)
Q 15). If 8888 + 777 + 66 + x = 9999, then what is the value of ‘x’?
(A) 348
(B) 268
(C) 768
(D) 468
Correct Answer: (B)
Q 16). Before taking push-ups test, a student should must perform which among the
following activities?
(A) Rest
(B) Warm-up
(C) Diet
(D) Sleep
Correct Answer: (B)
Q 17). Identify the type of the following sentence.
“Since it was raining heavily, Lilly couldn’t go out”.
(A) Simple
(B) Compound
(C) Complex
(D) Compound-Complex
Correct Answer: (C)
Q 18). Read the stanza given below carefully and answer the question that follows.
Never let a thought shrivel and die
For want of a way to say it

For English is a wonderful game

And all of you can play it.
What is the rhyme scheme of the above-mentioned stanza?
(A) abab
(B) abcb
(C) abca
(D) abbc

Correct Answer: (B)
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Q 19). TREUCRT Vg o1 IYY-fawse Fafafaa # § sH-w1 g2
(A) & + U=

(B) T + JUSH

(C) T + I

(D) T + U

Correct Answer: (C)

Q 20). FrafafEa i i ugex 33 U sgfawad vy & SR Rm |

f3e T9-Usg auf & gHR} WHUH &t Wpid H Th 981 9aaTd 31T 81 SSal-Sl-
TSGR T 3(d HId G0 HRd db ST T8 & 1 T IR HRd & i 83 IR & Suasy
€ 3R 3 o ST URd B! G1aT WP ATHT R < & T gb! g | 31 311 dgt o &,
JWR YR AT STA-91T 3TUH] A 51 S| 'BRE Fe' (qRd & Hior) &1 gad ot 59
IR 1 GF 7¢I 7| 39 B B H R, -j\scﬂﬁ?ﬁao—f%ﬂﬁmﬁﬁélwawﬁﬁw‘sﬁ
I cop T aTeAIo] ST 39 HHa: foeft o ferg ofsrrell e e | g ey e &
Qopresiq eau@r?ﬁw-l?qu-l S @Hﬁﬁﬁﬁ@ﬁ%l%@ﬁﬂﬂﬂﬁ?%ﬁw
%v&r%a;u@rﬁqaa AP 311l fore & w3 famfid &0 dsht ¥ R-R F 30 571

EIRGE

BH GAYH J ) Th-gIR &I 91 &1 39 2P Y 38 dl WHUH 3 1) Wbl § g6
RIS Tl & fore AT &t et ovd 81 oS et @it sigpia 817 ofd g9 UM 9
S!S Gul dioll Bt R off & &1 | TRe 51 3 Sietl-a1, UTHT-YST 311G o1 off fasdt-
9-foet U & Sarer ST, S e Ira foRi 3 ST g% | 1 39T o Wi & o &l &l
g g fob R ol &1 TogR H el § ST 31 Qe e JoRA 1 dai
g¢T 81 U WM o $ad ura RIdRT gledl & varid 78} ors few oim anfgu ui=
FHTRT gieel # 9 HHt-HHR fiierd 36, TR WRI- SWRI 9 79 81 S Ot I8 T gHiv
BT | 331 ARG SIS TS 1T J(S3l - HallSdl Siaifedl 4 3fd SToiRT J T &1 38! 6
At gfedl ¥ 4R §T qEN off or@ Fel fed 82

WU $1 HPid DI AT THaT & FA SIST ST 82

(A) TTUHE & 1Y AT T ST AT S T |

(B) Tl Uil H U AT HisH ST

(C) Th Uid & 3wy o] ol gax Uidl gRT (U

(D) WU & Fr-a1 fAfirsr Il T HIWT, TR, TXpia 3R agsiie o Ht ST |

Correct Answer: (D)
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